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
Agriculture 

 

1 Antonym of “assorted”? (A) 

A Similar B Mixed 

C Varying D Diverse 

 

2 Antonym of “Relinquish” ? (C) 

A Abdicate B Renounce 

C Possess D Deny 

   

3 What is the full form of SSD in computer (D) 

A Solid Sigma Drives B State Sigma Drives 

C Solid Software Drives D Solid State Drives 

   

4 The function of Ctrl+A in MS office is  (A) 

A Select all text B Select specified text 

C Undo D Delete word 

   

5 The number of land capability classes according to USDA  

USDA  

(B) 

A 13 B 8 

C 5 D 9 
 

6 Air flow is measured with the help of __________ 

 

(C) 

A Wind vane 

 
B Pschyrometer 

 
C Robinsons Cup Anemometer 

 
D Hygrometer 

 
 

7 Which of the following is an effective bio agent against parthenium? 

 

(A) 

A Zygogramma  bicolarata 
 

B Cytrobagous  solviniae 
 

C Crocidosema lantana 
 

D Dactylopsis  indicus 
 

 

 

 

 

 

 

https://www.computerhope.com/jargon/c/ctrl-a.htm


8 The main aim of Bhartiya Prakritik Krishi Paddhati (BPKP) is promotion of  

 

(B) 

A Organic farming 

 

B Natural farming 

 

C Chemical farming 

 

D Contract farming 

 

 

9 International Irrigation Management Institute (IIMI) is located at ___________? 

(IIMI)  
(B) 

A India 

 

B Srilanka 

 
C Nigeria 

 

D Philippines 

 
 

10 French bean variety developed by X-ray radiation is  

 

(D) 

A ArkaKomal 

 
B Bountiful 

 
C Contender 

 
D Pusaparvati 

 

 

11 Type of weather forecasting useful for long term plans is 

 
(B) 

A Short and medium range 
 

B Long range 
 

C Medium range 

 
D Short range 

 
 

12 In high density planting, sink size is ___ 

 

(A) 

A Reduces 

 
B Increases 

 
C Does not change  

 
D First increases and then reduces 

 

 

13 Orographic Rains are also known as ___  

 
(C) 

A Cyclonic rains 

 
B Convectional rains 

 
C Relief rains 

 
D Frontal rains 

 
 

 

 



14 Finger millet is rich in  ___ element  

 

(A) 

A Ca B B 
C Fe s D Zn 

 

15 The common parasitic weed observed in Lucerne is___ 

 
(A) 

A Cuscuta 

 
B Orobanche 

 
C Loranthus 

 
D Striga 

 
 

16 Type of Maize which is widely cultivated in India 

 
(A) 

A Flint corn 

 
B Dent corn 

 
C Waxy corn 

 
D Sweet corn 

 
 

17 Seed multiplication ratio in Sunflower is ___ 

 

(D) 

A 1:10 B 1:20 

C 1:50 D 1:80 
 

18 The first pigeon pea hybrid released from ICRISAT is ___ 

ICRISAT
(C)

A ICPL 870 B ICPL 87 

C ICPH – 8 D ICPH- 10 
 

19 Higher seed production in  cabbage can be achieved through which method? 

 
(C) 

A Head intact method 

 

B Core intact method 

 

C Stump intact method 

 

D Fermentation  

 
 

20 Among the following methods, which one is not a selection method of Lay 

leaders? 

 

(A) 

A Interview 

 
B Self-designating technique 

 
C Sociometry 

 
D Key informants method 

 

   



21 The most common reason for deterioration of genetic purity of a variety is 


(B) 

A Mutations 

 
B Mechanical mixtures 

 
C Natural crossing 

 
D Developmental variations 

 
    

22  

 

Which of the following types of Male Sterility cannot be utilized in crops where 

seed is of economic value 


 

(C) 

A CGMS 

 
B GMS 

 
C CMS 

 
D TGMS 

 
    

23 Which nature of Bajra crop promotes crosspollination and prevents self 

pollination 


 

(A) 

A Protogyny 

 

B Chasmogamy 

 
C Protandry 

 
D Cleistogamy 

 

   

24 As per IMSCS, the maximum physical purity of 96% is suggested for which of 

the following crop 

IMSCS
 

(B) 

A Sesamum 

 
B Groundnut 

 
C Sunflower 

 
D Castor 

 

  

 

 

 

 

 

 

 



25 Sequence of events during seed certification  

 

1. Seed processing plant inspection 

 
2. Issue of Tag 

 
3. Field inspection 

 
4. Seed sample collection 

 

(C) 

 A 1,2,3,4 B 3,4,1,2 

 C 3,1,4,2 D 1,3,4,2 

   

26 In which grafting method two independent plants with  their roots are grafted 

together  




(A) 

A Approach grafting 

 

B Wedge grafting 

 
C Veneer grafting 

 
D Soft wood grafting 

 
   

27 In which of the following methods seed protein separation is used for estimation 

of genetic purity of a seed lot 


 

(B) 

A Grow Out Test 

 
B Electrophoresis  

 
C Chromatography 

 
D DNA finger printing  

 
 

   

28 Pollination by bats is referred as ___ 

 
(B) 

A Malacophily 

 

B Chiropterophily 

 

C Cantharophily 

 

D Ornithophily 

 

  

 

 

 

 

 

 

 



29 In seed production of which of the following crops, isolation distance should be 

maintained from Johnson grass 

 

(C) 

A Rice 
 

B Maize 
 

C Sorghum 
 

D Pearl millet  
 

 

30 Replacement of cation sequence is 
 

(A) 

A H+=A13+>Ca2+>Mg+2>K+=NH4
+>Na+ B H+>A13+=Ca2+=Mg+2>K+>NH4

+>Na+ 

C H+>A13+>Ca2+=Mg+2>K+=NH4
+>Na+ D A1+3>H+>Ca+2>Mg+2>K+=NH4

+>Na+ 

 

31 Which of the following is not a liming material 
 

(D) 

A CaCo3 B Basic slag 

C Ca(OH)2 D CaSo4. 2H2O 

 

32 “Top sickness” of tobacco is caused by …….. 
 

(A) 

A B- Deficiency 

 
B Mn- Toxicity 

 

C Mn – Deficiency 

 

D Cu – Deficiency 

 

   

33 To neutralize the acidity created by addition of 100 kg Ammonium Sulphate, 

how much quantity of calcium carbonate is need to be added to the soil ? 


 

(C) 

A 150 kg  

 
B 200 kg  

 
C 110 kg  

 
D 90 kg  

 

  

 

 

34 

 

Rock phosphate is used in which orchards? 

 

(B) 

A Grape 

 
B Coffee 

 
C Sapota 

 

D Mango 

 



   

35 

 

Present chairperson of NITI Aayog 
 

(A) 

A Sri Narendra Modi 
 

B Sri Indrazeeth Singh 
 

C Sri Suman Bery 
 

D Sri Arvind Panagariya 
 

   

36 

 

 

Nitrification inhibitor is  

? 

(A) 

A N Serve 

 
B CDU 

 
C IBDU 

 
D ABA 

 

   

37 

 

The following fertilizers must not be mixed with phosphorus fertilizers 

 
(B) 

A Copper  

 
B Zinc 

 
C Boron 

 
D Iron 

 

   

38 Presence of more sulphates in the soils leads to   
 

(C) 

A Increased availability of Zn 
 

B Increased availability of Fe 
 

C Decreased availability of Mo 
 

D Increased availability of Cu 
 

 

39 Which of the following statement in not related to urban compost 
 

(B) 

A Composting will be completed in 3-4 

months 
 

B Starter material is dung 
 

C Raw material is street sweepings 

municipal rubbish etc. 


 

D Moisture is provided with sullage 

water 

 

 

 

 



40 Which of the following microorganism is an phosphates absorber 
 

(D) 

A BGA 
 

B Bacillus 
 

C Pencillium 
 

D VAM 
 

 
41 Frankia is an  

 

(C) 

A Virus 
 

B Algae 
 

C Actinomycetes 
 

D Fungi 
 

 

42 Who introduced the term “Natural Farming”? 
 

(C) 

A Sir Albert Howard 
 

B Padmasri Subash Palekar 
 

C Masanobu Fukuoka 
 

D Padmabhushan Anna Hazare 
 

 

43 Lower triangle colour of a moderately toxic insecticide is------? 


(C) 

A Red  

 
B Yellow  

 
C Blue  

 

D Green 

 

  

44 

 

Select non-selective herbicide from the following? 
 

(C) 

A Topremozone 
 

B Halosulfuron 
 

C Glufosinate  Ammonium 
 

D Atrazine 
 

  

45 

 

Exarate pupae are observed  in________? 
 

(A) 

A Coleoptera 
 

B Lepidoptera 
 

C Diptera 
 

D Orthoptera 
 

   



46 

 

Ginglymus and Condyle are associated with____________ 

 

(B) 

A Maxillae 

 
B Mandibles  

 
C Labium 

 

D Labrum 

 
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Match the following 

 

A. Dermoptera 

 
(    ) 1. Antlions 

 

B. Neuroptera 

 
(     ) 2. Scorpion flies 

 

C. Mecoptera 

 
(     ) 3. Earwigs 

 

D. Trichoptera 

 
(     ) 4. Caddish flies 

 
 

(B) 

A A- 1 B-2 C-3 D-4 B A- 3 B-1 C-2 D-4 

C A-4 B-1 C-2 D-3 D A-1 B-4 C-2 D-3 

   

48 The pest which causes damage in both larval and adult stages is_________? 

 

(A) 

 A Castor semilooper 

 
B Castor capsule borer 

 

 C Red hairy caterpillar 

 
D Rice stem borer 

 

   

49 Sugarcane juice becomes more watery due to the attack of _______ insect? 

 

(C) 

 A Scales 

 
B Cane fly 

 

 C Whitefly 

 
D Mealy bug 

 

   



50 Cucurbit fruit fly pupates in which part of the plant? 

 

(D) 

 A Root 

 
B Fruit 

 

 C Leaves  

 
D Soil 

 

   

51 An economically crucial polyphagous insect pest native to tropical and 

subtropical regions of America invaded Maize crop in India during May, 2018 ? 

 

(C) 

 A Stem borer 
 

B Shoot fly 
 

 C Fall Army Worm 
 

D American Boll Worm 
 

   

52 Find the internal feeder in  stored grains pests 

 

(D) 

 A Red flour beetle  

 
B Saw toothed beetle  

 

 C Cigarette beetle  

 
D Pulse beetle 

 
   
53 Compression rings of piston in internal combustion (IC) engine are mainly used 

for 
IC


(A) 

A Preventing leakage and increasing 

pressure 


 

B Increasing leakage and pressure 

 
 

C Increasing heat loss 
 

D Increasing leakage and decreasing 

pressure 


 

 

 

 

 

 

 



54 In which engine, fuel is mixed with lubricating oil  
 

(A) 

A Two stroke engine  
 

B Four stroke engine 
 

C External combustion engine 
 

D Electric motor 
 

 

55 The device which is  used to connect and disconnect the tractor engine from the 

transmission gears and drive wheels is 



 

(B) 

A Steering 
 

B Clutch 
 

C Differential unit 
 

D PTO 
 

 

56 The part of the mould board plough bottom that penetrates into the soil and cut 

the soil in horizontal direction below the soil surface is called 

 

 (A) 

A Share 
 

B Slip 
 

C Frog 
 

D Landslide 
 

 

57 Abbreviation of HAF in active winter cooling system is 

HAF
 (A) 

A Horizontal Air Flow 
 

B Horizontal Active Flow 
 

C Horizontal Active Fluid 
 

D Hollow Active Flow 
 

   

58 Root rot of cotton is reduced when cotton is intercropped with-------- 


 

(A) 

A Sorghum 
 

B Maize 
 

C Redgram 
 

D Cowpea 
 

 

59 Metalaxyl belongs to  
 

(B) 

A Benzimidazoles 
 

B Acylalanines 
 

C Morphoalanines 
 

D Thiophanates 
 



 

60 Who is the present Director General of ICAR, New Delhi ? 
 

(B) 

A Dr. Trilochan Mohapatra 
 

B Dr. Himanshu Pathak 
 

C Dr. S. Ayyappan 
 

D Dr. P.K. Rout 
 

 

61 

 

Concentric rings inside the spot in tomato is characteristic symptom of 

 

(D) 

A Bacterial fruit canker 
 

B Root knot nematode 
 

C Mosaic 
 

D Early blight 
 

 

62 Orange red dye is extracted from which part of safflower plant 

 
(C) 

 A Seed  

 

B Leaves 

 

 C Florets 

 
D Stem 

 

   

63 The following is called as Indian Saffron 

 
(B) 

 A Chilli  

 
B Turmeric 

 

 C Safflower 

 
D Sunflower 

 

   

64 The following crop can be cultivated in all seasons 

 

(B) 

 A Tobacco 

 
B Sunflower  

 

 C Turmeric 

 
D Cotton 

 

  

 

 

 

 



65 Best extension teaching method to introduce new methods and habits? 

 

(A) 

 A Result demonstration 

 
B Method demonstration  

 

 C Office calls 

 
D Field trips 

 

   

66 Yellow revolution is related to  

 

(A) 

 A Edible oils  

 
B Fish 

 

 C Milk 

 
D Agriculture 

 

  

67 Castor variety suitable to late sowing conditions as well as tolerant to drought is 

 

(D) 

 A Haritha 

 
B Jyothi 

 

 C Kiran 

 
D Kranti 

 

   

68 Which nutrient deficiency in cotton causes reddening of older leaves 

 

(C) 

 A Ca B Zn 

 C Mg D B 

  

 

 

69 Suitable planting method for  cultivation of Sugarcane in saline soils is ____ 
 

(D) 

 A Partha method 

 

B Ridge and furrow method 

 

 C Paired row planting  

 

D Modified trench method 

 

  

 



70 In jaggery making ___ is added as reducing agent 

 
(A) 

 A Sodium carbonate 

 
B Sodium chloride 

 

 C HCl 

 
D Calcium chloride 

 

   

71 Fiber strength can be determined by using __ 

 

(B) 

 A 

 

Fibrograph 

 
B Stelometer 

 

 C Holo length disc 

 
D Micronair 

 

   

72 Among the following Laws of Returns, which one is commonly observed in 

Agriculture? 

 

(B) 

 A Increasing Marginal Productivity 

 

B Decreasing Marginal Productivity 

 

 C Constant Marginal Productivity 

 

D Agricultural productivity 

 

  

 

 

73 Under whose chairmanship, All India Rural Credit Review Committee 

(AIRCRC) was constituted? 

(AIRCRC) 
 

(A) 

 A Sri. B. Venkatappaiah 

 
B Sri V.L. Mehta 

 

 C Sri A. D. Gorwala 

 
D Sri. D.R. Gadgil 

 

   

74 World Pulses Day is observed on  
 

(D) 

 A 1st February B 10th March  

 C 1st March  D 10th February 



   

75 Crop loan is fixed by ____ 

 

(A) 

 A District Level Technical Committee 

 
B Marketing Committee 

 

 C Finance Committee of NABARD 

 
D Rural Credit Committee 

 

   

76 Among the following, which one indicates Costs-Volume- Profit relation in 

short run? 


 

(A) 

 A BEP analysis 

 
B Cost analysis 

 

 C Farm budget analysis 

 
D Business plan analysis 

 

   

77 In which method the prices of the produce are settled by the buyer and 

commission agent of the seller by pressing / twisting the fingers of each other 

under the cover of piece of cloth 


 

(B) 

 A Morghum method 

 

B Hatha system 

 

 C Dara method 

 

D Open auction method 

 

78 In metric chain surveying the connecting links between two large links are 

commonly in which shape? 



(B) 

A Round 
 

B Oval 
 

C Rectangular 
 

D Trapezoidal 
 

 

 

 

 

 



79 Calculate the area of triangular field having a base (length) of 10 m and height 

(width) of 10 m ____ 

 

(C) 

A 50 m B 50 cm 
C 50 m2 D 50 m3 

 

80 The basic equation for calculating discharge through a weir is  
 

(A) 

A 𝑄 = 𝐶𝐿𝐻𝑚 B 𝐻 = 𝐶𝐿𝑄𝑚 
C 𝐿 = 𝑄𝐿𝐻𝑚 D 𝑄 = 𝐶𝐿𝑚𝐻𝑚 

 

81 A fabric knitted or woven from HDPE material that is primarily designed to 

protect crops and animals against harsh radiation from the sun either by 

absorbing or reflecting light is called as____ 

HDPE 

 

 (A) 

A Shade net 
 

B Greenhouse 
 

C Heating chamber 
 

D  Cooling chamber 
 

   

82 Foreskolin is extracted from the roots of which plant? 

 
(B) 

 A Nelavemu 

 
B Pashannabedhi 

 

 C Citronella 

 
D Davana 

 

   

83 First attempt to improve economic and social conditions of rural people is rural 

development issues was started through 

 

(B) 

 A Sevagram Project 

 
B Shrinikethan Project 

 

 C Guragaon  Project
 

D Marthandam Project 

 

  

 

 

 



84 The term sociology was coined by ___ 

 
(B) 

 A Paul leagans 

 
B Auguste Comte 

 

 C Albert Mayor 

 
D J.B. Chitamber 

 

   

85  The Agricultural information material contains message pertaining to the present 

needs on various issues in prescribed time period is? 


 

(D) 

 A Circular letters 

 
B Bulletins 

 

 C News stories 

 
D News letters 

 

   

86 The plant used for preparation of cool drinks in Western countries  

 

(D) 

 A Basil 

 
B Palmarosa 

 

 C Senna 

 

D Aloevera 

 

  

 

 

87  Which chilli variety is having more demand in European market? 

? 

(D) 

 A Bhagyalaxmi 

 
B Sindhur 

 

 C Aparna 

 
D Paprica 

 

  

 

 

 

 

 

 



88 Tending operation to remove / prune  lower branches in conifer trees is known as  


 

(A) 

 A Brashing 

 
B Singling 

 

 C Weeding 

 
D Fire tracing 

 

   

89 Vanamahotsavam was started by ___ 

 

(B) 

 A Sri Kailashnath 

 
B Sri K.V.Munshi 

 

 C Sri Charan Singh 

 
D Sri Nathuram 

 

   

90 Spruce is used in making of ___ 

 
(A) 

 A Packing cases 

 
B Pit props 

 

 C Match sticks 

 
D Railway coaches 

 

   

91 Alcohol prepared from Date palm is known as ____ 

 
(C) 

 A Champaigne 

 
B Sherry 

 

 C Nira 

 
D Squash 

 

   

92 The bark of Eucalyptus produces ___ 

 

(B) 

 A Abscissic acid 
 

B Oxalic acid 
 

 C Putric acid 
 

D Myric acid 
 

   



93 The distance between the row of live fencing and the first orchard row is ___ 
 

(C) 

A 40 ft B 30 ft 
C 15 ft D 20 ft 

 

94 The Phenomena in which embryos develop without fertilization is known as  
 

(B) 

A Pollination 
 

B Apomixis 
 

C Polyembryones 
 

D Parthenocarpy 
 

 

95 The following crops, propagated through “Root cuttings”  
 

(D) 

A Fig 
 

B Hibiscus  
 

C Crotons  
 

D Curryleaf 
 

 

96 “Aroma” is used as a maturity index in _____fruit crop 
 

(D) 

A Papaya 
 

B Watermelon 
 

C Banana 
 

D Jack fruit 


 

97 Hormone used for regulation of flowering in cucurbits and pineapple  

 

(D) 

 A Gibberllic acid 3 

 

B Naphthalene acetic acid 

 

 C Abscissic acid 

 

D Ethrel 

 

   

98 Rose fruits are known as____ 

 
(A) 

 A Hips  

 
B Pops 

 

 C Pods 

 
D Berries 

 

   



99 Inside coating of a can with acid or sulphur resistant material is  

 
(B) 

 A Exhausting 

 
B Lacquering  

 

 C Clinching 

 
D Brining 

 

   

100 Sticky substance in Ridge gourd is due to 

 

(B) 

 A Sauerkrat 

 
B Luffa  

 

 C Carotene 

 
D Cordial 

 
 


